= o
A & 0l & AF 2 E A A
20228 & =0l & LBHSI A REXIEE It
R PPN = RSy
B UYNA HHAY YSH(AUDIHI/AUHE)
CHelr MMN TR LAY 2E (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AHXI e & 0t 20,718,313 18,550,751 2,167,562
= 32,894
< 144,294
Al 20,541,125
N TR A Lo (LS IHE/LEEHHA) 7,963,214 6,407,697 1,555,517
= 32,894
< 141,928
Al 7,788,392
MM T2 LAZA RS 6,300 5,960 340
CAE R 2 E 500 1,000 A 500
202 044l 500 1,000 A 500
01 SLHOYI 500 1,000 A 500
O ArEE Al F=A 500,000& 500
=S| M| 5,800 4,960 840
201 Let249] 4,800 3,960 840
01 At 22l 4,800 3,960 840
OZUL2A A2 400,000& = 12& 4,800
202 o4dl 1,000 1,000 0
01 = LH o4 1l 1,000 1,000 0
OLMES £0/& A& 200,000 * 5% 1,000
245l dot= = 2e 3,268,911 2,913,884 355,027
SIS LA 32,000 32,000 0
201 Yot Y| 32,000 32,000 0
03 &Ar2 I 32,000 32,000 0
OUZECAEZ2S J18g4 M 10,000,000& 10,000
OUECANIEZS g8 A 20,000,000& 20,000
OUZECBNEZS JI8dA L 2,000,000& 2,000
CHAl el 2te) 418,712 283,105 135,607
101 @124l 418,712 283,105 135,607
04 JI2ZtHZ22 a2+ 418,712 283,105 135,607
OJIZHZ 22X &&= 3,000,000& = 5H 15,000
OFXN(BAEIIEE) A=A 403,712
oldles 73,2803 * 159H » 2474 271,503
oRERdsg 73,280& * 15% = 64 70,349
o =4l 60,0008 = 15% = 12& 10,800
ousHl 30,000& = 152 = 128 5,400
oAUEE RY3  363,548,000% * 10.645% 38,700
oI QAEHRE S
363,548,000 * 3.495% * 11.52% 1,464
oAXRSFII=T=E  73,280& * 158 x 5 5,496




AN XX HE D
Ha: KRR BF TIYT/AAY)
SEER-PC TS (B9 ®R)
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
otM st X Z e H 98,632 0 98,632
101 @14 Hl 1,600 0 1,600
04 J12tHI 22 Xt 1,600 0 1,600
OJIZHZZ2R EA2EEHY|
80,000& = 10¥ = 23| 1,600
201 Let249] 75,832 0 75,832
01 At 22/l 68,932 0 68,932
O=8% &t CHal JH=l 50,000& = 1509 7,500
Oosdzel /A&
6,600& * 2309 » 12& 18,216
ObtgorA HEW=E 50,0008 * 200H 10,000
Oortd 2te|
6,600& = 230H » 123 18,216
O/AS H &It 5,000,000& 5,000
Oxgszrz=4d 5,000,000 = 23l 10,000
02 2324gHl 6,900 0 6,900
OZBRd ExAHZ A 100,000& * 5% 500
OZBLE SHABT |
80,000& = 40H =« 23| 6,400
202 O4dl 11,000 0 11,000
01 =2 LHA YI 11,000 0 11,000
OZ382% ool (Z2S)
1,000, 000& 1,000
OZ282% 250,000& » 409H 10,000
405 XHoHS S 10,200 0 10,200
01 HALES 10,200 0 10,200
O&E2=7 2 340,000& = 304 10,200
=== 98,826 98,098 728
307 21201 A 98,826 98,098 728
07 23X 98,826 98,098 728
OAMZZE 5,430,000& = 65% = 20 70,590
O o £ 5,430,000& * 260% * 29 28,236
E NS 711,400 578,100 133,300
201 gpt2d 291,400 217,100 74,300
01 At 22l 291,400 217,100 74,300
OAL 7| se3
400,000& = 70 28,000
OAMOIH W 40,000,000& 40,000
O/AE = 180,400
oJdleu 40,400
52 1,000,000& * 14H 14,000




2AM: X

X{ XH -
S =

Xl | A A e Utz 2SN /AL H)
et A5l Yt ERBR (B9 ®R)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
MR 2800 330,000 = 80™H 26,400
oI UE L= 75,000
228edUE 15,000,000& 15,000
A A 15,000,000 = 4Y 60,000
CENNFETRA ANHNSES DY
1,000,000& * 30Y 30,000
o E+XA FHENUH 3,500,000& = 10Y¥ 35,000
Oogetnsg 243 200,000& = 200 40,000
O322% =l 3,000,000 3,000
202 04t 420,000 361,000 59,000
04 =H 304 Bl 32,000 0 32,000
O&IINE o2 H2=H| 8,000,000& * 49 32,000
05 22 Ws0HY| 388,000 361,000 27,000
OfIgN= 0| 285,000
oJdl2u=x Oyl 163,000
2 s XUAE 2,500,000& = 14H 35,000
AN 2281 UE
1,600,000& *» 80Y 128,000
o&JIE Oyl 110,000
228 dE 22,000,000& 22,000
At A 22,000,000 * 4% 88,000
oSxX2A FHSEME ol
1,200,000& ~ 10Y¥ 12,000
Ogetn =0yl 500,000& * 200H 100,000
OZ222 W0 3,000,000 3,000
AAXdEdE2d 13,900 13,900 0
201 Bt A H| 10,900 10,900 0
01 At 22l bl 900 900 0
OHWASIH H & 300,000 = 34 900
02 332494l 10,000 10,000 0
OZJAT AE - 2823l 3,000,000& 3,000
Od=2 JI=XNE X SHHE &9 3
7,000,000& 7,000
202 04t 3,000 3,000 0
01 2L Y| 3,000 3,000 0
OXNXISHEE AZMZ=Z HHI(HMR) 3,000,000 3,000
TS AIMST X 5,000 7,000 ~2,000
202 04| 5,000 7,000 A 2,000
01 2L Y| 5,000 7,000 A 2,000
OIS gdL28o(2E) 5,000,000& 5,000
PPN =i g= N 30,000 0 30,000
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A REPASN
M XYXX
|

| A Utz 2SN /AL H)
et A5l Yt ERBR (B9 ®R)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Ogaa 29 2,800
oS 7Y S 1,000, 000& 1,000
o0& F1E ME 150,000& = 12& 1,800
otz oa 29 3,400
oaoa HAZAY| 1,200,000& = 23| 2,400
o ZZHH & HH SAXA=2=H 1,000,000 1,000
ORAMXHH 1,200,000& * 12&€ 14,400
OblAa 29 AFR22| 8] 250,000 = 12& 3,000
OHIMA(BLE) KUE
500,000& * 3Y = 23| 3,000
ORI 2BE) 95,100
kS 60,000 » 4% x 118 28,320
o =2 60,000& = 3¥H x 365< 65,700
oYZA =ZA(AHF) 60,000& » 2% * 9 1,080
os:z2g 43 5 ME 2,000,000& 2,000
02 3524l 13,020 12,200 820
(@1==12 =2=N:] 1,500, 000& 1,500
OXMFZIDAIAE S22 110,000& = 12& 1,320
OxXZU22AIAE S22 850,000& * 12& 10,200
401 A& HI L 2T HI 4,500 0 4,500
01 A&t 4,500 0 4,500
OFUAY Al =& 3 A 1,500, 000& 1,500
otz oa 2 24 3,000,000& 3,000
405 Ko SHI 3,050 3,000 50
01 At = S FSHI 3,050 3,000 50
Otg o a Helsg oJX 22 300,000& * 504 1,500
O3 oA At 22 350,000 350
OEAMNEY QRMAE EHEEPC 2L
300,000& = 4CH 1,200
E0|& ANEERI &4 1,645,649 1,640,646 5,003
201 LBt A H| 1,393,649 1,324,326 69,323
01 AtSR 22l bl 74,500 47,000 27,500
O=x=AE S0 =28 4ds A
40,000, 000& 40,000
o222 E5235 N 1,500, 000& 1,500
OXAUZ} ARE XHE AR
20,000, 000& 20,000
OXE FAAZ T2 ) 29 7,000,000& 7,000
O TZNE QE2AUA 24 5,000,000 5,000
O T ZHME QE22AF (]
100,000 = 2¥ = 5 1,000
04 A= S K H T Al'SH A b 1,319,149 1,237,326 81,823




R PPN = RSy
FE: KNSR YA 2 (LS SHEY /LT
et A5l Yt ERBR CER-ED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFal =R 250,000  4409H 110,000
OXEE =4=1X N& 1,209,149
o &gHAl 1,214,8002 * 983H 1,194,149
o JIZEMIZ22 X (1 014)  300,0008 » 50 15,000
202 04l 27,000 151,320 A 124,320
01 = LH 4 Hi 27,000 41,320 A 14,320
OXZES=3 2% 100,000& = 15% = 104 E 15,000
O8 ZZ2HE ZILA AtdllAst
300,000& = 409H 12,000
303 Z& 3 45,000 15,000 30,000
01 243 45,000 15,000 30,000
OJ)=xszs 208 29 15,000, 000& 15,000
OZ22& HitdE K& 30,000,000& 30,000
307 gl2tol & 180,000 150,000 30,000
05 RIZHRIE 3 180,000 150,000 30,000
OZXFNEE 29 180,000, 000& 180,000
HASAESEL 353,353 410,367 A57,014
=2 32,894
< 15,000
Al 305,459
Higeli2t el sd8s K& (XHA) 14,850 84,250 A 69,400
307 glz2+ol & 14,850 14,250 600
02 It M AMHEE 14,850 14,250 600
OUSHEAIAF SZAISAM2 AHES 2= Us
A 14,850,000 14,850
HESAH 2COUHOIH XNE - 24 61,948 59,078 2,870
2 30,974
Al 30,974
307 glz2tol & 61,948 59,078 2,870
2 30,974
Al 30,974
02 It HAMHEE 61,948 59,078 2,870
OXESAH ZOUWOIH X -4
61,948,000 61,948
= 30,974
Al 30,974
AESAF ZCOUOIH X & (XMZFIH) 12,721 12,348 373
307 gl2tol & 12,721 12,348 373
02 IZHE S AHE L 12,721 12,348 373
OXESAH ZOUWOIH X& - |4
12,721,000& 12,721
THRSA 43 R (QMEIS) 30,000 30,000 0




Xl ot
NEXX dHdAZ 2ot Brai &)
NEENEEEy oEe)
S B G(SA) - NRANY - BES il 2
T 5,000
Al 15,000
307 glz2tol & 30,000 30,000 0
= 15,000
Al 15,000
02 It M AHE X 30,000 30,000 0
OXNESAHE T2 2H(AHEE X3 A
o) 30,000,000& 30,000
= 5,000
Al 15,000
d= S NBSAMEE MblA K& 3,840 3,242 598
2 1,920
Al 1,920
307 glz2+ol & 3,840 3,242 598
2 1,920
Al 1,920
02 It HAMHEE 3,840 3,242 598
OXNJASALR 2 3,840,000& 3,840
= 1,920
Al 1,920
NATHSA L3S 229,994 221,449 8,545
202 044l 1,000 1,000 0
01 SLHOYI 1,000 1,000 0
OXESAHE A 5t 1,000,000& 1,000
307 21201 A 226,594 218,049 8,545
02 IS AHE L 57,176 55,340 1,836
OAME % LisAtY 5,800,000 5,800
O NASAR(SHHEF) =
9,000,000& 9,000
O &S ALRH(E I 2,196,000 2,196
OXESA Ot el | 1,320,000& 1,320
OXNESA 38 & 2,080,000& 2,080
OXNESAHM 4 - XA 820,000& 820
O SAHE 29 6,000,000& 6,000
ONESAEE HEEE ALY 3,600,000 3,600
OX&SALALTH & 10,000, 000& 10,000
OXESALA 2 HI 24| 1,200,000 1,200
OXNJASALA E0LESH =S 9,000,000 9,000
OM:HTHal =+ &5 K& 2,000,000& 2,000
OFAGUXASA otAH 1€ = 4,160,000& 4,160
03 QIAHMNHE2IHIEE 169,418 162,709 6,709
OXNEESAME 2EXA(2LHI)
48,410,000& 48,410




AN XX HE D
B UYNA HHAY YSH(AUDIHI/AUHE)
ool HESAESRY CER-ED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OXESAME 2E XA (Q2AHl)
121,008, 000& 121,008
402 BI2HX=01 M 2,400 2,400 0
01 2IZF 2 A B (KR 2,400 2,400 0
O&d&®FH 7Y 1,200,000 * 2CH 2,400
FCIXEXI D182 3t 2,154,905 1,169,611 985,294
< 124,630
Al 2,030,275
ZEATE NSYIALE ASAY 59,100 0 59,100
= 41,370
Al 17,730
307 eIzl & 59,100 0 59,100
< 41,370
Al 17,730
02 RIZFE MM E X 59,100 0 59,100
oltsgga s+ 46,500,000 46,500
< 32,550
Al 13,950
OsZYHY2(ZLUOH) gs+¢
12,600, 000& 12,600
< 8,820
Al 3,780
2 UXNEgH Mt EEF 10,000 20,000 210,000
< 5,000
Al 5,000
201 Let24d] 10,000 20,000 A 10,000
< 5,000
Al 5,000
03 &AL Gl 10,000 20,000 210,000
OZ& XL Mt EES 10,000, 000& 10,000
< 5,000
Al 5,000
2 NG EE3 4,400 0 4,400
< 2,200
Al 2,200
201 LB-2gH| 4,400 0 4,400
< 2,200
Al 2,200
03 A2 Z Hl 4,400 0 4,400
OZd XxfeE2ds EE3 4,400,000& 4,400
< 2,200
Al 2,200
SZEN ERFA 943,856 110,736 833, 120
308 XXIEtH S0l A 943,856 110,736 833,120
12JIEtRE3 943,856 110,736 833, 120
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R PPN = RSy
B UYNA HHAY YSH(AUDIHI/AUHE)
el FXX OIerA 3t (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 25,440 25,200 240
04 DI2HHALALSE E X 18,000 18,000 0
OBZx=Al S sotsi g 18,000, 000& 18,000
06 23 7,440 7,200 240
Os& doll2e 30,0003 » 2489H 7,440
OrS3l& AldHl K& 15,481 30,837 A 15,356
402 RI2HXt20l ™ 15,481 22,837 AT7,356
01 212t 2 AL B (RERTH ) 15,481 22,837 AT,356
OUWEX OtS3l2 AIE=E2 E=3A
6,481,000 6,481
OXHMC DIS3 & AdE B3 A
9,000,000& 9,000
DFES2Z 43t 18,700 18,700 0
307 21201 A 18,700 18,700 0
02 QIAHFAAHEX 9,000 9,000 0
OF=ES ALHI 9,000
oXOle FAaY Ei 32 2H3l
2,000,000& 2,000
oESLEENME 7,000,000& 7,000
03 2IAHMEE2HHIES 9,700 9,700 0
QU=EE 2L XA (2LHl) 6,100
oAt A Zteldl 300,000&  12& 3,600
oXN=2%& EF NI 2,500,000 2,500
OQl="E 2 XA (128])
300,000& = 123 3,600
HE2ALII2s M 40,300 35,036 5,264
307 21201 A 40,300 35,036 5,264
02 IAHFAAFE X 10,180 9,880 300
otttz &l 28 10,180
o ZAEIAUS FIt 1,500,000& 1,500
ORDBINAYO L AHSHSS
1,740,000& 1,740
od=3 AU FIt 3,940,000 3,940
o&totstial 3,000,000& 3,000
03 A EE2LHIES 30,120 25,156 4,964
OHtZHAI M 22 X3 (224Hl)
2,820,000& 2,820
OHtEZAH A 22 K& (21248])
27,300,000& 27,300
HAELDWXX2LEH X2 39,676 37,676 2,000
307 glz2+ol & 39,676 37,676 2,000




R PPN = RSy
B UYNA HHAY YSH(AUDIHI/AUHE)
el FXX OIerA 3t (cho &)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 28,676 26,676 2,000
O™ X I XX & A EH AHS I 28,676
o HAIMA(IE) B35 ¥ XEAY
26,676,000 26,676
oHAHINK(IIE) B ¥ X3AMY EE
2,000,000& 2,000
03 2IAHMEE2LHIES 11,000 11,000 0
OYA LI AR E 2ZHl 1,000, 000& 1,000
OY X LIGH XX & dIE el248| 10,000, 000& 10,000
HEMN =28 FA 8,600 7,500 1,100
307 glz2+ol & 8,600 7,500 1,100
02 It M AHE X 8,600 7,500 1,100
OHEAN =& AU 8,600
oSN EEAY 1,000, 000& 1,000
o HAIMA £S5 - NFME 2 SEAMY
1,600,000& 1,600
OHEAN =Y EE BHA 1,000,000 1,000
od - JtE - SuEH 22 EEAY
2,500,000& 2,500
oA S AMIA AT X MHIA HMB
1,000,000 1,000
0SS0 2RO Y HIY EBHS
1,500,000& 1,500
UM 2 301,388 275,604 25,784
101 @14l 300,888 273,905 26,983
4 D12t ZE2XREES 300,888 273,905 26,983
FUHsM 2 300,888
o=N 73,2803 * 1609 » 20 234,496
oREFdsE 73,2803 * 160H » 5¢ 58,624
oNBMNMEEZ 293,120,000& * 2.65% 7,768
201 Let24E] 500 500 0
01 At 2t 2l 500 500 0
OZdidtE M & 2HsHH| 500,000& 500
MOIEXSR S/ XA (=) 44,000 0 44,000
< 22,000
Al 22,000
402 RI2HXt20l ™ 44,000 0 44,000
< 22,000
Al 22,000
02 RIZEXt 2 AL EZ (OIS ) 44,000 0 44,000
O=xAMOIESal &2 XI& 44,000,000 44,000
= 22,000
Al 22,000




2AH: XX
M KUK iz g (Lt /At N)
FOIXX D)8t St QA

SA - BB B (EH) - NRAY - BES il 2
MOIEXNEX SH X2 65,485 53,736 11,749
307 21201 & 63,285 53,736 9,549
02 (I BAAMHEE 28,140 22,880 5,260
OMOI=2SFa At 19,820
L olARE D 2,400,000& 2,400
0oSAMNYEXS 8,000,000& 8,000
oMOISAIS EOLTH S 1,520,000& 1,520
OMOISXER 20n= 4,200,000& 4,200
o0t0IATe HRAS 3,700,000& 3,700
OMDOFSXI=XF AP & & 8,320
oZHEEMOISNEXUE &It 3,860,000 3,860
oMd=MOSXN =AU &It 4,460,000& 4,460
03 HAHMEESHBIEX 35,145 30,856 4,289
OMOts3 23d(2gH]) 4,000, 000& 4,000
OMOts3 2Fd(el2dl) 31,145,000& 31,145
402 QI2tXt=01 2,200 0 2,200
01 Q=AM E X (KA ) 2,200 0 2,200
OMOts2sxd 23+7¢ 2,200
0TEZHE FY 1,600,000& 1,600
oSgdH F 600,000 600
MOIESXNET 4 7,086 5,120 1,966
S 3,543
Al 3,543
301 gEtE N = 7,086 5,120 1,966
S 3,543
Al 3,543
02 Zet=s k= 7,086 5,120 1,966
OMOISXIEXR TtH Ha a3 7,086,000 7,086
S 3,543
Al 3,543
ANgEH HRFA 39,475 0 39,475
= 26,317
Al 13,158
201 LEt2E | 22,075 0 22,075
= 14,717
Al 7,358
01 AtR 22l | 20,340 0 20,340
o=3% 2,260,000& 2,260
< 1,507
Al 753
Os=oldH 18,080,000& 18,080
= 12,053
Al 6,027
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o MY Y Y (LUTDUE/LNHE)
el FXX OIerA 3t (cho &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 =224l 1,735 0 1,735
o=3% 1,735,000& 1,735
= 1,157
Al 578
202 odl 15,000 0 15,000
< 10,000
Al 5,000
01 SLHOIYI 15,000 0 15,000
o= 3,000,000& 3,000
< 2,000
Al 1,000
Os=gdH 12,000, 000& 12,000
= 8,000
Al 4,000
203 YR =&l 2,400 0 2,400
< 1,600
Al 800
03 A FXH S Z=AY| 2,400 0 2,400
o= 800,000 800
< 533
Al 267
Os=gdH 1,600, 000& 1,600
< 1,067
Al 533
A3 d4EXEE 29 3,600 0 3,600
201 L2l 3,600 0 3,600
01 At 22l 3,000 0 3,000
OdExEE RANE=S 3,000,000& 3,000
02 =24l 600 0 600
OMNZXEE LED ¥ Z2XY HI AEZ
50,000& = 12& 600
Alglel & 28 & X 140,000 120,000 20,000
201 et 140,000 120,000 20,000
03 &AL I 140,000 120,000 20,000
020225 £x= AR & 2¢ 140,000, 000& 140,000
syl 22 X3 (<) 44,000 36,000 8,000
< 22,000
Al 22,000
402 QI2H X201 M 44,000 36,000 8,000
< 22,000
Al 22,000
02 QI 2 A EZ(OI X TH ) 44,000 36,000 8,000
O AXNELSHAEW HEFFY K&
44,000,000 44,000
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FE: KNSR YA 2 (LS SHEY /LT
S FUXX OIS (=& J)
= _ — d =
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ozt HAE 27 FHI 1,000, 000& 1,000
202 044l 3,000 0 3,000
01 = LH 4 1l 3,000 0 3,000
OH=CAEA T/FE 2UHEZ Ol
3,000,000& 3,000
SESHQ AZAH =2 24,200 16,200 8,000
201 L2l 19,200 14,200 5,000
01 At 22l 19,200 14,200 5,000
O N F=(58) 50,000 * 43| 200
OANM =228 M= 7,000,000& 7,000
OtAZS R =4 LXZ  1,000,000& = 128 12,000
202 044l 2,000 2,000 0
01 S LHOIYI 2,000 2,000 0
OAMZAHZ=Z 4] 2,000,000& 2,000
405 XHobF S HI 3,000 0 3,000
01 HatH ESFH S 3,000 0 3,000
ot=xag32t et 2¢ 3,000,000 3,000
QI XX E24d st 109,050 98,750 10,300
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201 ¢4l 6,250 37,450 A 31,200
01 At 2t 2l 5,850 8,850 A 3,000
OZRE =0l Z2HUS &It
1,500, 000& 1,500
OYHET ZoTKSEs 222 &% ¥ 29
4,000,000& 4,000
OFQTXIUE AR HA==H
70,000& = 59H 350
02 =224l 400 3,600 A 3,200
OFUXXHH AIE B8 E 400,000& 400
301 LA S 38,800 40,300 A 1,500
09 HALAHIXI &3 36,600 38,100 A 1,500
OAET 24502l IS &It ¥ FoX
X erEsl As 70,000& = 1309 9,100
Ofz+= FUXXAAS nF
70,000 * 25% = 8= 14,000
O&= NI & R+FULNILH A
E 375,000 = 4% = 8= 12,000
O & 23 s &4 1,500,000 1,500
12JEEd= 2,200 2,200 0
Oz FOUXXFAAS A& 2,200
0 xR 1,000, 000& 1,000
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AN XX HE D
M YA YA 2o (S SHTY /YY)
S JIE2 - FESH HAHE (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o2Lict & B AIAE(H/W)
391,647,000& * 8% 31,332
o2Lltct & OI=a AIAE(S/W)
92,479,000& * 12% 11,098
o2Lict & HEIIS2A2IAMAL DB(22t2)
13,000, 000& 13,000
o HEFEISH2 L 0IBIAIAE(H/W)
141,134,000& * 8% 11,291
o EEIIZS&EIAIAE(S/W) 18,000, 000& 18,000
og=2esl 60,834,000& * 8% 4,867
ORERS 18,000,000& * 12& 216,000
207 A RO H| 200,000 200,000 0
01 289 200,000 200,000 0
OSRIIES BRFAY 500& =+ 400,000&H 200,000
308 MtXIEHSOIH 16,720 23,210 A 6,490
M 3IN2SUHUE3AHEAE A 16,720 23,210 A 6,490
O=2LtetAAd S8 SAE* 11,220,000 11,220
OSHIOIANAE SESFX2el 5,500,000& 5,500
405 TtHabF S| 53,000 600 52,400
01 AL EFH S 53,000 600 52,400
OJIE2elAMAE AEQX 45,000,000& 45,000
OAMB2AIIEE 0l 2E NAS EHI 72
2,000,000& 2,000
Oozlet 2RSS ESAH 6,000,000& 6,000
gota 249 77,500 77,500 0
201 L2l 62,500 77,500 A 15,000
01 At 22l 33,000 48,000 A 15,000
o2& 2d=sHX I3 sHAEX
1,000& = 50008 = 103 5,000
Oog2a ZH 2285 22 25,000,000& 25,000
OALZERN 2t0l8A 2 3,000,000& 3,000
02 2322l 29,500 29,500 0
Ogztal Al EH X 9,500,000& 9,500
OZdEgAAE RIALE=H
200,000,000& * 10% 20,000
405 TtabF S| 15,000 0 15,000
01 AL EFHSHI 15,000 0 15,000
ogztd M=221 2¢ 15,000, 000& 15,000
sta 29 351,322 312,252 39,070
201 €82l 350,322 276,722 73,600
01 At 22/l 58,000 0 58,000
Oosdd 29 4235 7¢ 2,000,000& 2,000




SA: XA D
M YK #HPAY

Sl JIS2 - HESM AHY CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSHUAZERN Y (=HAAEH)
1,120,000& * 5074 56,000
02 =224l 292,322 276,722 15,600
OAE AMNNEE HEL Hates
39,000& = 503 & 1,950
O32320/0t0] sl&d= 2,400,000 = 12& 28,800
OAl& & Hl s Xl 32,372
o REESHNHHI(RAI &)
42,830,000& = 5% 2,142
0 BAZOAIAE 50,317,370& * 8% 4,026
og=2esl 18,600,000& * 8% 1,488
oHF LS EHI 95,980,000& * 8% 7,679
oINS WEI & M3tIl =Xl
283,940,000& * 6% 17,037
OdsR= 6,300,000& = 12& 75,600
OBHENY B3 MR (T-ANB2 S)
12,800,000& * 12& 153,600
202 04l 1,000 1,000 0
01 = LH 4 di 1,000 1,000 0
OHESH AEHE ZA
20,0003 = 238 » 25¢ 1,000
dE - XN 23 =& 935,385 782,555 152,830
< 2,298
Al 933,087
OHE ROl HEBAAH 2 292,444 236,480 55,964
201 et 276,253 208,230 68,023
01 At 221l 35,977 23,200 12,777
Ogds3s SAI(SSL VPN) 2ZEQINH 2 12,777
0253 SAI(SSL VPN) 22l AZEN
9,999,000 9,999
0253 SAI(SSL VPN) &% 2ol A
55,5503 = 5004 2,778
OPC Htoled A gHAl e 29,000& = 800 23,200
02 2324l 240,276 185,030 55,246
OFEsANAY S8 |RANE=  240,275,070& 240,276
405 XtatE SHI 16,191 28,250 A 12,059
01 XA = ZH SHI 16,191 28,250 A 12,059
OSRL JtastMB SAN 22X 2
8,095,500& * 204 16,191
A2E PC L S/W 22 230,950 231,700 AT750
201 Let2d] 80,950 81,700 AT750
01 At 22l 58,950 59,700 AT750
OCADian LIERI2E +¢ 850,000& = 9OH 7,650




AN XX HE D
H: NYUX #HYAS 23 (Lers33F /el H)
Sel WH - N I =X CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OgHFLLE S/W +¢
250,000& = 2& = 10004 50,000
OHEZZSAAE DBMS 2ol AP Y
1,300, 000& 1,300
02 8323l 22,000 22,000 0
OHFHURE PC RANE= 22,000,000& 22,000
405 TtakF S 150,000 150,000 0
01 et EFSFHSHI 150,000 150,000 0
A28 ARH & 2ULH 2
1,250,000& * 120CH 150,000
FESAY 2 226,300 144,300 82,000
201 LBt 144,300 144,300 0
01 At 22l 2,500 2,500 0
Osad 2 b 2,500,000 2,500
02 8323l 141,800 141,800 0
Os - Al HE3H MEZ
750,000& * 13214 » 12& 117,000
OFBS AL (LAN, WAN) R X 2%
20,000,000& 20,000
OADSL-VPN 3| & At EZ
40,0003 * 10214 * 12& 4,800
405 THabH S| 82,000 0 82,000
01 XML = ZH SHI 82,000 0 82,000
owg ALX WA 82,000,000& 82,000
2302 29 243t 6,100 6,100 0
201 €2l 4,100 4,100 0
01 At 22l 600 600 0
OZEdH 29 423 200,000& * 33 600
02 =224l 3,500 3,500 0
OXFEstil2 EHOIXN FAES(AE=2Y)
3,500,000& 3,500
301 LPEXZ 2,000 2,000 0
09 HALAHIXI RS 2,000 2,000 0
O&dEs0tE =8 ws & 04l 1,000,000 1,000
O&¥Esotg FUXNEZ XS =AY
100,000& * 10 1,000
202 T2 )AL s4 14,707 15,096 A 389
< 2,298
Al 12,409
307 21201 A 14,707 15,096 A 389
= 2,298
Al 12,409




AN XX HE D
o MY Y Y (LUTDUE/LNHE)
ool BE NS FEE =X CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
02 It M AHE L 14,707 15,096 A 389
O&dE30ie T2 )8 22X 4
14,707,000& 14,707
< 2,298
Al 12,409
d2siote T2 sS4 (MMFo) 3,800 3,800 0
307 glz2tol & 3,800 3,800 0
02 It M AHE L 3,800 3,800 0
OZFEs0E T2 22X ML (AREE
el) 3,800,000 3,800
ANLHY HES(2F) 125,314 108,009 17,305
308 XX EHH SOl A 108,314 108,009 305
11 SISO E & X E A HI 108,314 108,009 305
OXXIEH =3I/t L M= PAIAE A2
2l 101,754,000& 101,754
OXNLHEFZE0E F2ALE 29|
6,560,000 6,560
405 TtHabF S| 17,000 0 17,000
01 XML =S ZH SHI 17,000 0 17,000
OZ23JIEt Mal=+ AECX 88 &4
17,000, 000& 17,000
HEY - XNBFES FX ANAZH 6,850 8,150 A 1,300
201 L2l 4,850 5,150 A 300
01 At 22l 4,850 5,150 A 300
OMNEEES IS FA
150,000 » 1= & 1,650
O#HF - NGYFE5 =& ARl
800,000& = 43| 3,200
202 oddl 2,000 3,000 A 1,000
01 = LH o4 1l 2,000 3,000 21,000
O#HY - NAFEs =& oH(FE2=2l)
2,000,000& 2,000
SHOIXl 22l 28,920 28,920 0
201 LBt2d| 18,920 18,920 0
01 At 22l 2,520 2,520 0
OozmeAEz 30,000& * 404 120
OZHOIX 2&MHA AIEZ
200,000 = 12& 2,400
02 8323l 16,400 16,400 0
OZHOIXI2E SN RANE= 16,400, 000& 16,400
207 A& H| 10,000 10,000 0
02 & A b 10,000 10,000 0




R PPN = RSy
B UYNA HHAY YSH(AUDIHI/AUHE)
Sl ¥H XY HEE £ (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OEHOIX 2= 82, JIsid
10,000, 000& 10,000
ANE =AM J2FX (XX E L) 93,520 96,920 A 3,400
ANEAH GR2FI(SS)(MHAHF D) 75,000 75,000 0
203 ¥ S =&l 75,000 75,000 0
03 AIMF=AH 2 =AY 75,000 75,000 0
OANBANH L2FA(SS) 75,000,000& 75,000
NEAY HRZ=X(2AM) (KR E D) 16,600 20,000 3,400
203 YR =&l 16,600 20,000 A 3,400
03 AIF=XH R = AH| 16,600 20,000 A 3,400
OA ALY RFA(ZH) 6,000,000& 6,000
OAEAY LRFX(2AM) 7,000,000 7,000
OAMZAIY HRFE(HMSAR2A) 3,600,000 3,600
SEXERNIA(HELIRAHA) 1,920 1,920 0
204 AR A H| 1,920 1,920 0
03 EZYRFHI 1,920 1,920 0
OZLALH SHYR+ 8BS
60,000& = 123 720
ONESY SHYRLHHSY|
100,000& * 12& 1,200
oz g S (SSEMUSE /LT - 21eke]) 128,671 132,045 A3,374
= 2,366
Al 126,305
SSYRAEHA 2= 128,671 132,045 A3,374
< 2,366
Al 126,305
HI&CHH & 2= 7,886 11,340 A 3,454
< 2,366
Al 5,520
308 MtXIEHSOIH 7,886 11,340 A 3,454
< 2,366
Al 5,520
N 0HZSLXNJAZIL4EX 7,886 11,340 N 3,454
OBl ZHE S AHRIA 7,886,000 7,886
< 2,366
Al 5,520
Agod=z 4 77,145 77,145 0
308 XX EHSOIA 56,745 56,745 0
0V 0HZSLANIAZIL4EX 56,745 56,745 0
OgElHz=sd 42X 56,745,000 56,745
403 MHXISHE X201 H 20,400 20,400 0
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